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2) Part-C has Two Questlons Q8 and Q9. Both are compulsory, but with internal ch01ce o

3) Any missing ,data may be assumed appropriately

Qu

Q2.
Qs

o

- ©) State pumplng lemma for regular grammars.

Cd) Ehmmate the useless symbols from the followmg grammar

: ‘e") § Construct a grammar for the language L = (WcWR Iw

e

 Part-A o [Marks: 02 each]

a)' Explam the dlfferent ways in which a PDA accepts the languagei‘?:

b) Descrrbe the recursrve]y Enumerable Language with example? g |

->AB[DS A->a B->c C->D D->DdIE E->a’

,m:

:{‘a, b} Reverse

. ;ofwrsdenotedasz , , o
0 Is the grammar {E—E+E|E- Elrd}amblguous? Why? T
|  Part- B | [M?l’kS: 04 each] ,

Dlscuss in deta11 Linear Bounded Automata

Compare Mealy Machlne with the Moore Machine.Also, explam the ‘
procedure to convert Moore Machine to Mealy machme usmg an example
Construct NFA without € — transitions from the following NFA‘

M"({qo q1,92}, {a, b, ¢}, 8, 40, {q2}) and 5(q0 , a) = {qC} 5(q0 b) = {ql}

8(q0, ¢) = {q2} 8(ql', &) = {q0}, 3(q1 , a) = {ql1}, 8(ql , b = {q2}, 8(q2, g) =

Derive the regular expression of given automata using Arden’s. theorem.. ’1
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ngen below L= {a“b“c‘|n>l >0}

Wha
Mi

proct
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>

rt the given context-free grammar G into Chomsky Normal Form. .

AaA|CA|BaB

aaBa | CDA | aa| DC
bB | bAB | bb | aS
Ca|bC|D

bD e

esents null

Construct a DFA for the language over {O 1}* such that 1t ccntams “000” asa

ing

Part— C - L [Marks 12 each]

Noam Chomsky ClaSSlﬁed the formal languages‘7 Dlscuss each class
the help of suitable examples . Also find the grammar for the language

OR

tate
roc

t do you mean by equlvalence of states ina lete Automata‘7 Construct
nimum state Automaton equlvalent to DFA glven below

)ésxgn a Turing machine M to recognize the language{lnznln > 1}} Draw its

transition table and diagram. Obtain the computatlon sequence of M for L E
cssing the input strmg 1122 s T Lo
o PO
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: Wha 1s it]*? dlfference between PDA acceptance by empty stack and ﬁnal

‘ Construc1 adetermlnlstlc pda acceptmg S A
L= {W € | the number of 1's inw equals the numberiof 0'sin wlby
é;ﬁnal state' Trace the instatneous descrlptlon for w= 10001 1L RN

S e ok e e e de e e e Ak
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